
α/α x ν ∆ν

0 1 2151.4 3.6
1 2 2155.0 3.8
2 3 2158.8 3.5
3 4 2162.3 3.9
4 5 2166.2 3.5
5 6 2169.7 3.6
6 7 2173.3 3.9
7 8 2177.2 3.4
8 9 2180.6 3.6
9 10 2184.2 3.5

10 11 2187.7 3.6
11 12 2191.3 3.3
12 13 2194.6 3.3
13 14 2197.9 3.2
14 15 2201.1 3.2
15 16 2204.3 3.2
16 17 2207.5 3.1
17 18 2210.6 3.1
18 19 2213.7 3.1
19 20 2216.8 3.0
20 21 2219.8 3.0
21 22 2222.8 2.9
22 23 2225.7 3.0
23 24 2228.7 2.8
24 25 2231.5 3.2
25 26 2234.7 2.7
26 27 2237.4 2.7
27 28 2240.1 2.9
28 29 2243.0 2.5
29 30 2245.5 2.8
30 31 2248.3
31 -1 2143.5
32 -2 2139.4 4.1
33 -3 2135.6 3.8
34 -4 2131.4 4.2
35 -5 2127.5 3.9
36 -6 2123.4 4.1
37 -7 2119.3 4.1
38 -8 2115.1 4.2
39 -9 2111.1 4.0
40 -10 2106.9 4.2
41 -11 2102.8 4.1
42 -12 2098.5 4.3
43 -13 2094.2 4.3
44 -14 2089.6 4.6
45 -15 2085.0 4.6
46 -16 2080.9 4.1
47 -17 2076.3 4.6
48 -18 2072.0 4.3
49 -19 2067.8 4.2
50 -20 2063.4 4.4
51 -21 2059.0 4.4
52 -22 2054.5 4.5
53 -23 2050.1 4.4
54 -24 2045.5 4.6
55 -25 2040.9 4.6
56 -26 2036.8 4.1
57 -27 2032.0 4.8
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y = 3.776(±0.023)-0.0346(±0.0014)*x

Be = 1.914 (±0.012) cm
-1

αe = 0.0173 (±0.0007) cm
-1

ν0 = 2147.18 cm
-1

Re = 1.133 (±0.003) Å
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Φάσµα υπερύθρου CO
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y = ωe-2ωexe+2(Be-αe)x-αex
2

y = 2147.3(±0.08)+3.828(±0.003)*x-0.0179(±0.0002)*x
2

ν0 = ωe-2ωexe = 2147.29 (±0.08) cm
-1

Be = 1.9318 (±0.0017) cm
-1

αe = 0.0179 (±0.0002) cm
-1

Re = 1.128 (±0.001) Å


